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2 декабря.
Классная работа.
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Периметр 
многоугольников
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Периметр- 
Сумма длин всех 

сторон 
многоугольника



Р- периметр



                 
Периметр



      Р = 3 + 3+3 =9 см                                             Р = 2+2+2+2=8 см                           
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 Р = 2 + 2+2+3 =9 см  Р = 3 + 3+2+2 =10 см 



(48-¹16)+³(79-²71)=40
1)48     2) 79       3)  32
-             -              +  
   16         71               8
   __        __             __
   32           8             40

7+²(68-¹15)-³2= 58
1) 68    2) 53    3) 60
    -            +         -
     15           7          2
      __         __       __
    
      53         60       58








